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VarInt

https://learnmeabitcoin.com/guide/varint
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v0.2.1

https://github.com/bitcoin-sv/bitcoin-sv/blob/v0.2.1/src/policy/policy.cpp#L103


v0.2.1

https://github.com/bitcoin-sv/bitcoin-sv/blob/v0.2.1/src/primitives/transaction.h#L178


/** 

 * "Dust" is defined in terms of CTransaction::minRelayTxFee, which has 

 * units satoshis-per-kilobyte. If you'd pay more than 1/3 in fees to 

 * spend something, then we consider it dust. A typical spendable 

 * non-segwit txout is 34 bytes big, and will need a CTxIn of at least 

 * 148 bytes to spend: so dust is a spendable txout less than 

 * 546*minRelayTxFee/1000 (in satoshis). A typical spendable segwit 

 * txout is 31 bytes big, and will need a CTxIn of at least 67 bytes to 

 * spend: so dust is a spendable txout less than 294*minRelayTxFee/1000 

 * (in satoshis). 

 */



/** 

 * "Dust" is defined in terms of CTransaction::minRelayTxFee, which has 

 * units satoshis-per-kilobyte. If you'd pay more than 1/3 in fees to 

 * spend something, then we consider it dust. A typical spendable 

 * non-segwit txout is 34 bytes big, and will need a CTxIn of at least 

 * 148 bytes to spend: so dust is a spendable txout less than 

 * 546*minRelayTxFee/1000 (in satoshis). A typical spendable segwit 

 * txout is 31 bytes big, and will need a CTxIn of at least 67 bytes to 

 * spend: so dust is a spendable txout less than 294*minRelayTxFee/1000 

 * (in satoshis). 

 */

fee = 148 + 34 = 182 <= Autxo / 3



/** 

 * "Dust" is defined in terms of CTransaction::minRelayTxFee, which has 

 * units satoshis-per-kilobyte. If you'd pay more than 1/3 in fees to 

 * spend something, then we consider it dust. A typical spendable 

 * non-segwit txout is 34 bytes big, and will need a CTxIn of at least 

 * 148 bytes to spend: so dust is a spendable txout less than 

 * 546*minRelayTxFee/1000 (in satoshis). A typical spendable segwit 

 * txout is 31 bytes big, and will need a CTxIn of at least 67 bytes to 

 * spend: so dust is a spendable txout less than 294*minRelayTxFee/1000 

 * (in satoshis). 

 */

Autxo >= 546 
fee = 148 + 34 = 182 <= Autxo / 3



BitSV 0.10.2

https://github.com/AustEcon/bitsv/blob/0.10.2/bitsv/transaction.py#L204


UTXO







拆分UTXO









合并UTXO







fee = 4 + 1 + 148 * 100 + 1 + 34 + 4 = 14844





传送⻔1

传送⻔2

https://bitcointalk.org/index.php?topic=653313.0




Spam Wallet



⼴播交易



⼴播交易

• 不要直接认可接⼝返回的⼴播结果 

• 关键场景⼀定要⾃⼰做验证



• Cannon & Crossbow 

• webot 

• Mnemonic Last Word 

• BlueSV 

• 梦想咖啡馆

⼴告时间

https://aaron67.cc/2019/02/27/wechat-bot/
https://github.com/gitzhou/mnemonic-last-word
https://github.com/gitzhou/sv-aqi-public
https://sv.cafe
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